
  

Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

English  

Page | 1 

Directions: 
Below  each  sentence,  some  phrases  are  given  which 
can substitute the bold part of the sentence. Find out 
the phrase which can correctly substitute that part of 
the  sentence.  If  the  sentence  is  correct  as  it  is,  the 
answer is ‘No correction required’ or ‘No 
improvement’. 
 
1) We do not agree on certain things. 
a) agree to  b) agree about 
c) agree of  d) No improvement 
 
2) No sooner the advertisement regarding the launch 
of new smart phone appeared than there was a rush 
on the online website for prebooking the same. 
a) No sooner the advertisement regarding the 
launched of new smart phone appeared 
b)  No  sooner  did  the  advertisement  regarding  the 
launch of new smart phone appeared 
c)  The  advertisement  regarding  the  launch  of  new 
smart phone was no sooner having appeared 
d) No improvement 
 
3) I'm having to too much fun. 
a) having  b) had 
c) has   d) No improvement 
 
4) The T.V. news is doctored by non professionals and 
whetted by political higher-ups. 
a) wetted  b) vetted 
c) written  d) No improvement 
 
5) He was absolute ruining by that unlucky business. 
a) had been absolutely ruining 
b) was absolutely ruined 
c) had absolute in ruining 
d) was absolute in ruining 
e) No correction required 
 
6) He must have behaved Impolite and suffer because 
of that. 
a) impolitely and have suffer 

b) impolite and suffered 
c) impolitely and suffered 
d) impolitely and suffer 
e) No correction required 
 
7) The flood affected people are looking forward with 
the visit of the Governor. 
a) looking forward to 
b) looking forward on 
c) looking forward for 
d) No improvement 
 
8) Your bonus will dependent the quality of your work. 
a) being dependent 
b) is dependable 
c) depends on 
d) going to depend 
e) No correction required 
 
9) What does it matter most is the quality of the goods 
that we require. 
a) What it matters more 
b) What does it matter more 
c) What matters most 
d) No improvement 
 
10) The Chairman appointed her as a secretary as she 
is efficient. 
a) a secretary  b) as secretary 
c) secretary  d) No improvement 
 
11) He is unique as he behaves with the same courtesy 
of the poor as of the rich. 
a) with the poor as with 
b) for the poor as for 
c) with the poor as of 
d) to the poor as to 
e) No correction required 
 
12) I shall help you only if you will explain to me your 
difficulties. 
a) would explain b) explain 
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c) explained  d) No improvement 
 
13)  Recently  there  has  been  suddenly  increased  the 
price of oil. 
a) a sudden increase in 
b) suddenly increasing 
c) sudden increase from 
d) increased suddenly 
e) No correction required 
 
14) Because of his efficiency, the Director wanted him 
to work as his assistant. 
a) wanted of him 
b) wanted he to 
c) wants him to be 
d) Wanted to him 
e) No correction required 
 
15) He went to the blast location to save his colleague 
who was stranded there. 
a) blast location so that to save 
b) blast location for safety 
c) blast location for saving 
d) blasting location to save 
e) No correction required 
 
16) Will you help me wash away after the meal? 
a) wash up  b) wash off 
c) wash out  d) No improvement 
 
17) He tried hardly and that led to his success. 
a) He had tried hard 
b) Hardly had he tried 
c) Had he tried hardly 
d) He hard tried 
e) No correction required 
 
18) You called on me when I was not at home, don’t 
you ? 
a) did you?  b) didn’t you? 
c) didn’t I ?  d) No improvement 
 

19) Sun is the force before all natural phenomena. 
a) at all natural 
b) behind all natural 
c) responsible all natural 
d) pushing all natural 
e) No correction required 
 
20)  It  has  become  a  fashion  to  talk  about  exercise 
restraint on any thing and everything. 
a) exercise without restrain 
b) restraining exercises 
c) exercising without restrain 
d) exercising restraint 
e) No correction required 
 
21)  With  the  raining  heavily  the  multi-storey  office 
building was badly damaged and collapsed. 
a) Since heavily it rained 
b) Owing to the heavy rains 
c) Because of raining heavily 
d) In raining heavily 
e) No correction required 
 
22) The sparrows took no notice about the bread. 
a) notice to  b) notice of 
c) notice from  d) No improvement 
 
23) He must not to be left like this. 
a) being left  b) been left 
c) be left  d) No improvement 
 
24) For me, money is only the means to an end. 
a) only means  b) only the mean 
c) only a means  d) No improvement 
 
25) As soon as winter sets in, the number of tourists 
start increasing suddenly. 
a) the number of tourists are increased 
b) the amount of tourists start increasing 
c) the number of tourists increases 
d) No improvement 
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26) They are migratory workers from another country. 
a) immigrant  b) itinerant 
c) emigrant  d) No improvement 
 
27) One, of the terrorists arrested have opened 
admittance that he had resorted to firing. 
a) have been open admittances 
b) has opened admittance 
c) has openly admitted 
d) have open admittance 
e) No correction required 
 
28) He did not know the answer, i did not neither. 
a) neither did I  b) either did I 
c) neither have I d) No improvement 
 
29) The driver was dazzled by the bright light of 
approaching . 
a) twinkled  b) flashed 
c) glowed  d) No improvement 
 
30) As long as we are in this historical city let us spend 
our time doing sightseeing. 
a) to sightsee  b) sightsee 
c) sightseeing  d) No improvement 
 
31)  During  the  training  programme  the  new  recruits 
will be briefed about how their role in the new 
organisation. 
a) which are their role 
b) for its roles 
c) about their role 
d) what their roles 
e) No correction required 
 
32)  Most  of  the  basic  facilities  in  this  hospital  being 
quite poor. 
a) off these hospitals are 
b) in these hospitals are 
c) in this hospital is 
d) with this hospital being 
e) No correction required 

 
33) Every employee is entitled to those benefits from 
the late regulations. 
a) within the lately 
b) underneath the later 
c) below the latest 
d) under the latest 
e) No correction required 
 
34) With the failure of the investment bank, the 
public’s confidence in the banking sector has been how 
badly shaken. 
a) too badly shaky 
b) badly shaken 
c) that much shaky 
d) so badly shaken 
e) No correction required 
 
35) The government plans to take up the construction 
project soon. 
a) Take on  b) Take off 
c) Take in  d) No improvement 
 
36)  We  are  looking  forward  for  a  positive  response 
from you. 
a) are looking forward to 
b) have been looking forward at 
c) should look forward at 
d) No improvement 
 
37) He told me that he was married four years. 
a) over four years b) four years ago 
c) about four years d) No Improvement 
 
38)  I  hope  you  will  be  able  to  steer  ahead  of  the 
antisocial elements. 
a) steer clear  b) steer out 
c) steer free  d) No improvement 
 
39) If one works hard, you have got the reward. 
a) one gets  b) one has got 
c) one will get  d) No improvement 
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40) Most of the villagers prefer tea to coffee. 
a) rather than  b) than 
c) more than  d) No improvement 
 
41) I hope that I shall get a First Class. 
a) I feel that  b) I hope 
c) I am doing  d) No improvement 
 
42) Not able to produce children 
a) Gravid  b) Hebetic 
c) Fecund  d) Sterile 
 
43) Its high time that you go home. 
a) have gone  b) should go 
c) went   d) No improvement 
 
44) My elder brother was a British citizen since 1980 
and is now living a retired life in London. 
a) is   b) had been 
c) has been  d) No improvement 
 
45) That company is our rival since it provides similar 
services to ours in a lowest rate. 
a) for as lower rates 
b) with lowest of rate 
c) in low rates 
d) at lower rates 
e) No correction required 
 
46) In all likeness the company will fail to achieve its 
production targets this year. 
a) In every likeness 
b) It is likely for 
c) In all likelihood 
d) With every likeness 
e) No correction required 
 
47) Once you get your postgraduate degree in 
management get a job will be much easier. 
a) you will get a job 
b) getting a job will 

c) to get a job 
d) should get a job 
e) No correction required 
 
48) In case if it rains, I shall not visit you. 
a) If so   b) In case of 
c) In case  d) No improvement 
 
49) Only when you left I did sleep. 
a) had I slept  b) I slept 
c) did I sleep  d) No improvement 
 
50) When she regained consciousness she was 
stretched in the ditch out, soaked to the skin. 
a) out in the ditch stretched 
b) on the ditch outstretched 
c) outstretched in the ditch 
d) No improvement 
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